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Manager: John, I heard Mr. Morita has a cold and is not able to come today. In the evening it will
get busy, so I am counting on you.

John: Sure, I will do my best.

Manager: First of all, vegetables are in the refrigerator, so, take them out. Then, is the outside
light on?

John: No, it isn’t. Shall I turn it on?

Manager: Yes. If you press the button there, the light will be on.

John: Yes.

©

Customer: Excuse me. I have dropped the soy sauce. I am sorry.
John: Please don’t worry. Oh, your skirt has become dirty, hasn’t it?
Customer: Oh, no! What should I do?

John: I will bring a towel right away.

Manager: You were so helpful today.

John: Don’t mention it. But, it was such a busy day.

Manager: You have school tomorrow, right? It is tough to go to school working part-time, isn’t it?

John: Yes. I am late for classes sometimes.

Manager: When I was a student, I often cut classes, too. I should have studied more. Well, I will
take care of the rest then.

John: Excuse me for leaving early. Good-bye.

Manager: Thank you. Bye.
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Some verbs describe situations in which human beings act on things. For example, I open
the door, you furn on the TV, and they break the computer. Such verbs are called
“transitive verbs.” Some other verbs describe changes that things or people undergo. For
example, the door opens, the TV goes on, and the computer breaks down. These latter
verbs are called “intransitive verbs.”

While most verbs are loners and do not have a counterpart of the opposite transitivity,
some important verbs come in pairs.

Transitive Intransitive

F#;U% open something EF;?< something opens
F%/H&bé close something Fiﬁﬂié something closes
Z\\TL% put something in gL\\ZD something goes inside
%3‘ take something out {:L:.'ZD something goes out
D5 turn something on ) 4 something goes on
;Eja‘ turn something off; 552% something goes off

extinguish something
%‘9" break something %ﬂ% something breaks
iﬁcﬂ' make somethingdirty E#’Lé something becomes dirty
%éz?’ - drop something %'55 something drops
DHT  boil water h< water boils

Transitive verbs call for both the subject (agent) and the object (the thing that is worked
on). Intransitive verbs call only for the subject (the thing or the person that goes through
the change).

f:h‘L’éAﬁ;ﬁiﬁLgOh‘i L7 fiifnﬁOEEiLf:o
Takeshi turned the light on. The light went on.
f:t?‘Li‘Aﬁ_“B‘}?g#’)b‘Li s 2 E‘J%ﬁ_fa‘oiki L.

Takeshi boiled the water. The water boiled.
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Transitive verbs describe activities, while intransitive verbs describe changes. They
behave differently when they are followed by the helping verb T\ 3. Let us first recall
that activity verbs (%?‘ for example) + T\ 3 refer to actions in progress, while change
verbs (ff*iz%?“ 3, for example) + T\w 3% refer to the states resulting from the change.

T>2A

A—=XAI3A, BET #ﬁ@' XAZELTWE T, (activity, action in progress)

Wi TA/ el 3%
Sue is talking on the phone with her mother right now.

LT RZEIIRELCwEF.,  (change, result state)

P LEAEYD 122 A
Professor Yamashita is married.

Similarly, when followed by <T\»3%, transitive verbs refer to actions in progress, while
intransitive verbs refer to states that hold after the change takes place.

BN—=FSAREERTTE T F7Z BT E§,

Robert is opemng the wmdows. Doors are open./ There’s an open door.
£HITARBRERL OIS, FLERHEZTOET,

Tomoko is tumin:g the light off. The TV set is off.

TVIHEERL TN I T, SNAYEa—F—RATVET,
There goes Godzzlla, destroying the city. This computer is broken.

The te-form of a verb+ L £ 9 has two senses, which at first might appear rather
incongruous. In its first sense, L ¥ 9 indicates that one “carries out with determination”
a plan described by the verb. It typically involves bringing something to a culmination

point. You, in other words, do something completely, or finish doing something, or have
something done.

7$éo;u/\/< Loexg L7,

134

JE read the book completely./I finished reading the book.

The second sense of L 9 is “lack of premeditation or control over how things turn out.”

This often comes with the sense of regret; something regrettable happens, or you do
1
something which you did not intend to.

'Since L ¥ 9 goes with the verbal fe-form, which is affirmative, it only gives us sentences meaning that
something regrettable does or did happen. In other words, we cannot express with L ¥ 9 negated ideas
such as “regrettably, x did not take place” or “unfortunately, I did not do x.”
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I inadvertently left my bag on the train.

”’EEE ?(Lt@’C ?ti;t el L eadl .

L= A\ i
To my horror and sorrow my professor got angry, because I had forgotten my
homework.

Both senses focus on the discrepancy between what we intend and what the world is like
when it is left on its own. A L % 9 sentence may be ambiguous between the two senses.
How a given L £ 9 sentence should be interpreted depends on the assumptions the
speaker has when uttering it. For example, the “finished reading” sentence above can be
read in the “regrettably” sense equally easily if you read the book although you had not
planned to, or knowing that it was wrong but unable to resist the temptation.

In speech, ~TL 9 and ~TL Z 9 are often contracted to ~H <9 and ~U <9,
respectively.

BHEEL(LlLbeot,

Lp(En
I lost my homework!

ﬁ/\tbm\ia‘ % ﬁ/\fsm%?
ﬁE/u‘cb?atoL > ?E/umbot

The present tense short form of a predicate + ¥ means whenever the situation described
by the predicate holds, another thing happens. In most ¥ sentences, the first clause
describes the cause, and the second the effect.

7'1‘1\ i%@/\c‘:’%ﬁ“tmﬂ o

e (oo

Whenever I talk wzth that person, I feel uplifted.

AATWE R0 h 5,

P = U 2A
Whenever the streets are crowded, it takes longer to get there.

clause A & clause B, Whenever A happens, B happens too.
(short, present)
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Sometimes, a ¥ sentence describes a cause-effect relationship between specific events.

])“‘JSAﬂb-t 'Fﬁ%Z"SU‘L< SRS s
Jh Mary goes bach home, we will be sad and lonely.

While the clause that comes before £ is always in the present tense, the second clause can
be in the present or in the past tense.

REFROY, XIBBLIEEVEELL,

_K*

When I was young, whenever winter arrived, I caught a cold.

The event described by the second clause must follow the event described in the first half
of the sentence. Thus it is wrong to say:

X fz\ i%@/\za%?z"*% a n’-&i*r

O)is i 2

Whenever 1 talk wzth that person, we go to a coffee shop.

If you want an adjective idea in the second clause, it is usually expressed as a change. It
is very common therefore to find in the second clause an \>-adjective base + ¢ % %, and
7-adjective base + 1272 % (see Lesson 10 for adjective + % %).

%)\L 687](75»7’%( 2 T
Whenever fall arrwes, trees turn red.
RISR B XE DM ICR ) 35

L3 &Y =07

Whenever night comes, the town becomes quiet.

You can connect two verbs with %% 4 to say that the two actions are performed at the

same time. 245 follows a verb stem. The second verb, which goes after %55, can be
in any form.

RIIVWOLEEEBEE L ﬁ‘bElZF BB LIY,

br=L BAG X = ~NAEE)
I always study Japanese while hstenzng to music.

Bl L =aA in‘kf»’:j‘)’(\«\ ﬁ‘bé’t«éé LA T,

Takeshi is dozng laundry szngzng a song.

TIIN4 % L% ﬁ‘b%’fx TL DI RETT,

R WA
It is not easy to go to school worhing part-time.
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Note that the two verbs that flank %Z:#%%5 must be two actions performed by the same
person. %% 5, in other words, cannot describe an action performed while another person
does something.

XX %22 72T means I wish I had done or I should have done something. You can use
it to describe an alternative course of action you, to your great regret, did not take.

fb@fﬁ\ FELTV\%J ZT%\‘Z,CSFI S HC
I wish I had told her that T loved her.
?ﬁii{‘?ﬁfl}]\ﬂﬁ‘ﬁﬂlfi R e R

2Dk

I should not have broken up with her.

All verbs can regularly be turned into a I3 X #*- /=T sentence with no exception or
irregularity. You form the 1¥-form on the basis of the present tense short forms.

Verbs in the affirmative:
Drop the final -u and add -eba.
g/\“é (tabe-ru) => gf\‘ah,(;t‘ (tabe-reba)

< (ku) > {FHE (k-eba)
52 > Hd
B> 5 =
73 > ThE
<3 > <ni

Verbs in the negative:
Drop the final L\ and add (Fh(3.

RN > BNEENE
ALY > e
el > rmTnE
B > Hbmini
L7t > LBBnE
ZHL > THEBnE

We will learn about the |X-forms used in broader contexts in Lesson 22.
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SMFP Noun DE»IF(T) is used to express gratitude to something or
someone when things turn out as desired.

Kf’%ﬁ)ibl“c < ﬂf’iﬁjl@ib?bih"( ;J_btfi»o Tes
T hanks to the map my frzend drew, I dzdn t get lost.

S I BEBDHTE I, Congratulations on your graduation.

AR EDErS

FHE @%@}o#b"é@“o I owe it to you, Professor.

B gV

The expression B»F & £ T (lit., Thanks to you) is the proper response
when asked ;E’inf‘ﬁ‘b).

A ij}:y’f\‘(“‘é‘?b% How are you?
Bz 2 = S N e Yes, thanks to you.

B»IF & T is also used to show appreciation for the addressee’s help/
support/concern.

A @E%a:%ﬁni L7z,
Have you gotten used to the job?
B:zz. 8% C. 75b)$‘f§ﬂi Lies
Yes, I have gotten used to zi‘c mostly. Thank you for your concern.

Expression Noies@
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A. Describe the pictures using transitive and intransitive verbs.

b)

(
(b)
(b)

(a)

(b) F?’ybfriﬁ Suge)
(a

b

b)
(b)
(b)

(
(

(a) FT’&EﬁHiTo

Example:

()
(a)



(b)

B. Describe the condition using ~TL\3.
Example: f&iﬁfﬁf WTWE

Ex. @ 2 3

5) e 0

® ()
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C. Pair Work—One person looks at picture A below and the other looks at picture
B (p. 1383). The two pictures look similar but are not identical. Find out the
difference by asking each other questions.

Example: A I &@BEIZ) A Z\‘?b“‘g\\o TV I Tds

nnwgy 2

Billdwe. =203 T,

e (=40

Picture A
(1) = @)

D. Pair Work—You and your partner are working part-time at Little Asia. The man-
ager is sick, and you need to take care of the restaurant for the day. Look at
the picture and discuss what needs to be done to open the place for business.

Example:® 'A : T7 O 48 DWW T WER AN,
BreaTylalk . iﬁb*‘oh‘i?io
A:dAazTHin B’fﬁ“tiﬂ'o

-
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A. You finished doing the following things. Express what you did with ~TU
5. ()

Example: finished eating lunch — 3 9)BITHZEXTLIVWF L -,

S Ol = W DN =

(0] 134 i

. finished doing homework

finished writing a paper

finished reading a book

finished listening to a Japanese language tape
finished cleaning a room

finished seeing a video

B. The following things happened and you regret them. Express them with ~CTU

5. ()

Example: B%?ﬁfﬁf) I N WA TTA. (bought a lot)

(@ ol S RN (e U S BRIRIET =~ =) S o ol

~ H%ﬁ“%i SR LT ik éh:ﬁofti\‘i e

REBIZT VN 28 ATTH, (broke it)

B E L S5 oA TT A, (spent all)

29759

% WTW= DT, (fell down)

05 §7b‘o 7=D T, (caught a cold)

2D)HT :']Zj%’l‘?b‘o 7=-DT. (slept in class)

WP A S Aﬂb*“hj X727 ATT 2. (Yumi got married)

ABITIIREZBDLL beWwWT oA TTH, (orgot it)

)  bA x5

. BBV L= T, (missed a train)

H3 n i)
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C. You stayed at your friend’s apartment while he/she was away. Now your friend

is back; make an apology using ~5+%5 /U %5 for what you have done in the
apartment.

Example: A : TH A,
Biigy Ly
A "ﬁtiJ’%ﬁ}E@ﬁ’Qﬁf@%é\%B’%&t)%ofco

= nEG T 7z L WA e

8.7 >

friend’s shampoo

friend’s diary

friend’s magazine

answering machine
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D. Pair Work—You did the following things. Explain the situations to your partner
in informal speech. Continue the conversation.

Example: You borrowed a camera from your friend but broke it.
s SRg0aD jif:“t;f)‘ﬁ)ﬁ)‘ﬁ ’&1% WA ey %%prd‘eof:o
B AT( o213 AT X,

W Hx

A.%')?‘Jﬂo e o6,

You horrowed a book from your friend but lost it.

You received a scholarship but you bought a car with that money.
. You told a lie to your friend.

. You had a fight with your boyfriend/girlfriend.

. You didn’t want to go to class, so you cut class.

s S e OO IND

. You overslept and came late for class.

WELBBEEN<BEDET
A. Change the cues in 1 through 6 into & clauses and choose the correct phrase
on the right to complete each sentence.

Example: i{gc e b 2 4»‘3’ LR
a SESREE A E IS

= EA O Ll

Ex. i}ib:f;") S

1L BAEOTET BrEnE T,

2. BE&RATEET BB H)ET

3. \?ﬁmééLi%A i*gbf“géési?“o

% ﬁ%éxbﬁy) R4 alin o

5, =Hwd Lo~ =tfody - L BLCT) 2T

6. BN i T : 5 ASHEC AN ET

1% X JiA
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B. Pair Work—Give advice to your partner who has the following problems, using

~&.

Example: A :f;@}%%‘bf—f?t/"
LAzgnfw%Af?o B
2 A :Z;gf:“t)b*‘wm%“c‘fro B-.
3. A »¥EUVWEATT, B
4. A :13*) LT B
5. A B

FPRLNTVATT,

T‘TO

B:®ET32 Zg;?&:&") e

NALw)

el .,

A =

KZ;‘ZE‘E?&*"C“EE Ty 4.

EL st

z&ﬁi?io

CEONIT L

C. Pair Work—Talk with your partner using the cues below. Expand your conver-

CEYF LB
3iﬁ/t<§t“< =S ﬁ;‘u‘fb*l,k\ Z%ﬁ“gﬁ;( BB A LT

/12, BEERGLEI K RBATT,

=

AL XSS ORELEADGAC BB AT,

sation.
Example:
»B »H
— A
BE =9 T4
br=L
il CRAHVEBRL S
5 A b3
3. EElL (5
XA
5. o ?%ﬂ%
. 3 LIRS F:

WFLEESHADHMUET

NEED

S = D

o 1 e
IR/ S

A =

CERT S

2ABE)

A. The pictures below show what Michiko does. Describe them using ~&#4'5.

Example: A5 2 X A3, fVE%%’lbfﬁp%iﬁti 53

®

V) (3)
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(to walk : ? <)
%
B. Pair Work—Ask your partner the following questions.

TBRERNEY L, FELET

(=

1
2. FLE Laa's, {t?&ti?‘#

5 ;)nac)\o AH, FEL T T
4. ﬂ%%%‘i% LA ﬂéti*ﬂr
5

.ﬂéL SRR %zi?#

C. Class Activity—Let's play charades. The teacher gives a sentence card to each
student. One of the students mimes the sentence. All other students guess what
the person is doing and raise their hands when they recognize the action. The
person that gets the most points is the winner.

Example: “‘J‘* il ay 1417')—‘&5’@'\”@«‘i?o

D. Talk about the following, using ~&E A5

1. two things you often do at the same time when you are busy

Example: \‘lg I \r“ﬁ‘ g’\“ﬁﬁfﬁ)@jﬁ_ L2 .

2. two things it is better not to do at the same time

Example: ZBI L LA LTBETEHE I L WII) PN TT,

IATA TA b gy

3. two things you like to do at the same time

Example: ‘i%%%ﬁ]% ﬁ’bﬁﬁz?%@b ﬁ?"i’C’f

4. two things you cannot do at the same time

Example: Eﬁxib RN Db % i%%’?“\bﬂi*\i‘k
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A. Change the following verbs into [¥-forms.
Example: \ ¢ — WIiFT

B i 2 %5 3. 2% 4. /X2
6. 259 7. HZ 43 8. %% 05 7 e T 10.
1. S 12 =2 p v 13 01 200

o

iy
IR
<

B. The following pictures are what happened to you as a result of action you took
or didn’t take (marked with X). Express your regret using ~[E&H o7=TT.

Example: #»* X z&"lffo Tl T

Ex. @)

2 (€))

@ 6))




Make sentences in the following situations using ~[E&h o 7.

Example: You didn’t do well on your test.

= S tREsl Lo U, Gh ERAIATL T NIT L

‘e x5 0
ol T,

. You were late for class.

. You went to a restaurant but it was closed for a holiday.

. You are on a trip. You forgot to bring a camera.

. Your college life is miserable.

. The hamburger you ordered doesn’t taste good.

. You ate too much and you are not feeling well.

o8 IR or VRIS ) B =G S SR e B

. You have just started working after graduation. You are too busy to have time for
yourself.

8. You can’t help thinking about your ex-boyfriend/ex-girlfriend. (;éﬁ 2L 4] 21i:&:9)

T DL
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A. Pair Work—Tell each other a story of a failure or a sad experience, which
happened contrary to your wishes.

Example: A :J X, %3 bni < T, %%}%Kﬁﬂ’( LE skt
B 3@5@%&:%7‘:&'@‘?#0
A —:B%{“j—
B:%o&%(%ﬂ@l#ohf?ﬁo

B. Pair Work—Ask your partner the following questions.

%Lf*i’(&ﬂét S Bt £ 8 L
fl‘—l\@ %7& & E T ‘«\’)i’C“KF’é’l‘(%%V‘Hi%Ab‘o
ﬁ‘-%i“ﬂﬂ%tl??ﬁ o’C»\iT:b‘

€ o5

LE iﬂﬁ%ﬁ‘bﬂﬂ%ifﬁhf\«‘in

e )P ) 2 LA

REEE! ;M‘TEEE! Eﬁio“(‘«\i A

=l vy ZAL

b 7"_0)/?‘)%} 0)‘4’& ﬂ?b N T\W F T8,

nWNEg = iz 1Ty

: rj’fi@f‘% 'ﬁ €f ??Hi Lo =TT h,

W e )

b«ﬁ%’ﬁ)\ttﬁ weloid R s s

b D

S N S Ul e W N
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Pair Work (1) C.

Example: A I &ZBEIZ) A TH N T\ T T,

AR =T (=450

B:livw, —oA->TwWE T,

e {4

Picture B
@




